2ve*+x?=c

ve*+x’e¥=c

3. %
e*+xe¥=c
4, %
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Question Number : 81 Question Id : 4509387761 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is not a unit of permeability

1808 57¢3S” DO DB0HENEEI & [H370 52

Options :



Henry meter™?!

1. %
Weber ampere™! meter™?!
2. ®
Ohm second meter™?!
3. %
Volt second meter™1
4.

Question Number : 82 Question Id : 4509387762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A diving board is at a height of 'h’ from the water surface. A swimmer standing on this board thrown

a stone vertically upward with a velocity 16 ms™. It reaches the water surface in a time of 55 .

In the next 0.2s. the diver can hear the sound from water surface. The speed of sound 1s

(acceleration due to gravity g = 10 ms™2)

N8B0 0B ' AW (e BAOA 5§ 2 Aen)d) SHmed Loms™ Jod
DOAHT D8 TOND VT, B0 5 VEIS A3 G0serd) TOOH. b
200 0.2 DEVE Sdrch) & 127 0B, R0 ((Hkeh s ¢ 5560 g = 10 ms™?)

Options :

450 ms !
1. %

225 ms™1

2.¥



200 ms™1

275 ms !

Question Number : 83 Question Id : 4509387763 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Path of projectile is given by the equation Y = Px— Qx%. match the following accordingly

(acceleration due to gravity=g)

2,8 30e) D0 Y = Px— Qx? 8880 T 507 0 d0d. A esprdorr 1§od
3R 2SD0H0G (g Hed s 6 58e0)

R_ : R a2 : !
a | Range 1 : a|o’fo) 1 Q
b | Maximum height |11 | P b | H{Bed E ii|P
P 2
¢ | Time of flight | — ¢ | 5458 00 iii P_
4Q 4Q
; Tangent of | E s 1952) 5690 TR, /?
( o v = d - £ —|p
projection \ 5 70208 ’ \ gQ
Options :

a-1, b-111, c-1v, d-11

a-1. b-111, c-11, d-1v

a-111. b-1, c-1v. d-11



a-1v, b-i1. c-11. d-1
4, ®

Question Number : 84 Question Id : 4509387764 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A bowling machme placed at a height h above the earth surface releases different balls with

different angles but with same velocity 1043 ms™. All these balls landing velocities make angles

30° or more with horizontal. Then the height ‘h’ (in meters)

(acceleration due to gravity= 10 m s %)

25rederdEh IR G0N 2,8 O0f 0|0 ()8 208 103 ms™LF0s, § B2

Jr0BE0S DY) Seren TREED DDA TY0A. BV 2R TS

6 Jrozen, §8B08 30° B @oS0T) 500 TR0 DR @ES, Jé) N

(D&0S)

(hSed s & 30 =10ms72)

Options :
- 15
5 % 12
3 % 10

5



Question Number : 85 Question Id : 4509387765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Aballoon carrying some sand of mass M 1s moving down with a constant acceleration a,. The mass

‘m’ of sand to be removed so that the balloon moves up with double the acceleration a,, 1s
2,8 BOFR S0 M (355073 o) 2008 8. & Bers a, V0 :86:m8 (§068
SN 6. 8 BT 2, § oG0S & 58S 2 FIBI0D), &8 Bers DO

SONOIIONN RS |D350%3 ‘M’ 2)ENa)

Options :
2Ma,
m =
2o+ 8
1. #®
2Ma,
m =
dg — 8
2. %
3Ma,
m=——-r"
g + 2a,
3.¢¥
_ 3Ma,
m = ==y
4. ®

Question Number : 86 Question Id : 4509387766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A person walks up a stalled escalator in 90s. When standing on the same moving escalator, he

reached in 60s. The time it would take him to walk up the moving escalator will be.

Y

DTVBES’ &) B0 28 SHAN 90 EDHO 500 8 N0yerch. eoF
S EE0EN) B 28 AOD &5)29)ch @8 HAND 60 DEOAS 8
BEN08. ESendd) JBHE D HAX DE SEDS ©BD D8 FETE HE

SHONW
Options :

36 s
1.4

728

18 s

27 s

Question Number : 87 Question Id : 4509387767 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A particle of mass 'm’ at rest on a rough horizontal surface with a coefficient of friction '’ is given
a velocity 'u’. The average power imparted by friction before it stops
e M0 W 1OS 28 fhd §B2TosE $00D MO WS &)
m’ (3507 1) SR8 ' IR B, G $620 &7 DHOITRS oded 2ere
500 1N OG0 @TDHE 50 eV

Options :

1.



Zero

1

— pmgu
2. ¢ :

pmgu
3. %
4 % Zumgu

Question Number : 88 Question Id : 4509387768 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A soccer ball of mass 250 g is moving horizontally to the left with a speed 22 ms™?. This ball is
kicked towards right with a velocity 30 ms™ at an angle 53° with the horizontal in upward

direction. Assuming that it took 0.01 s for the collision to take place. the average force acting 1s
e 4
(c0s53° = =i sin = 2

250 15535078 i) 7780 w0 §az daroddor 2msT FMod DS
500S) 0. & 208 3 HIS’ § 823 SrostdE 53° §ea08, 30 ms™! FoS
408 B8 Be8) 2B00. & DTG0 0.01 DED TS BOAS AT Y

200
3 oy 4
(e0s53° = =3 il 53" = 2
Options :

- 1000 N



986 N

2. #

1166 N
3.¢

2000 N
4.

Question Number : 89 Question Id : 4509387769 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The moment of inertia of a solid sphere about its diameter is 20 kg m*. The moment of inertia of a

thin spherical shell having the same mass and radius about its diameter 1s

TR0 N0 2,8 20 F¥o Gy 2cdehs (2P0 20kgm? AAE ST
563507, F5arQ0 $OAN DA Fgs Y §6)50 (spherical shell) G308, 750
DO0TP 23¢8ed 5 (270500 2)ENe)

Options :

16.6 kg m?
1. %

30.3 kg m?
2, ®

33.3 ke m?
3.v

66.6 kg m?
4. %



Question Number : 90 Question Id : 4509387770 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One ring. one solid sphere and one solid cylinder are rolling down on same inclined plane starting

from rest. The radius of all the three are equal. The object reaches down with maximum velocity is
2,8 £0589500, 2,8 $ed 0 BN 28 800 A0 % 16 VB0 20530, 2.3
TS Mo 8068 BN, @) 0 e TGO SO A2
@O0 185 oS TendOen S0H TE Hen.

Options :

Solid cylinder

500 50
1. %
Solid sphere
e FESa0
2. %
Ring
505£2:00
3. #
Solid sphere and Ring
. BRI oN SNEAD E0oEea0
4,

Question Number : 91 Question Id : 4509387771 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



As shown in the figure, two blocks of masses m; and m, are connected to a spring of force constant
k. The blocks are slightly displaced in opposite directions to x;,x, distances and released. If the

system executes simple harmonic motion, then the frequency of oscillation of the system () 1s

HRNES LTS DSV my BN m, |Sd5o7hen e Boch Ben k |R)0h
NoP0%am o (20 % Seadad. & Bodh By SBTEBIOS 1%,
Srdsned) Todan ToHoD HOOBADDAN. B 5530 DY TTh
2030 BOWDA), s A Fresydgad (@)

1. %
1 1
[
my M2
2. %
\/ 1 1
)
m; i
3. %

1 1
j(_+_)k
m;y My

4.+



Question Number : 92 Question Id : 4509387772 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A mass M. attached to a horizontal spring executes simple harmonic motion with amplitude A;.

When mass M passes mean position then a smaller mass m 1s attached to it and both of them

G : T : Ay
together executing simple harmonic motion with amplitude A,. Then the value of s
2

2,8 § 82 N7058 1200 80 EondBd M aF (335073 4, 5033 D8NS N
P08 1050 DO A. AR TS T 6 ‘M’ O J0F XY (K35
030 M 4§ $e0nad o). & Bodd (sorhen SO0 A, 09 MBS S

P08 TIONO ﬁoﬁmﬁjm.% HIOWN
2

m? + M2
m +
M
m
M

m+ M

Options:
MZ
M
2
+ M

1. %
2. %
3.¢

4, %



Question Number : 93 Question Id : 4509387773 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The time period of revolution of a satellite close to planet’s surface is 80 minutes. The time period

of another satellite which is at a height of 3 times the radius of the planet from surface is

28 o8 6™ DOBNNN) GIHF0 OEIDEITO0 80 AodalPen. DT
EIT0, 8 |1 G000 HOG, [P TITRE 3 B NS H8ZD0B,
'R 20| 2edEd 50?7

Options :

64 minutes

1. %

640 minutes
2. ¢

320 nunutes
3. ®

240 minutes
4. %

Question Number : 94 Question Id : 4509387774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The work done on a wire of volume of 2 cm® is 16 x 102 ]. If the young's modulus of the material

of the wire is 4 X 10 Nm™2. Then the strain produced in the wire is
DSNBAPH0 2 em? (i) 28 B 16x 102] H T, & &f e oHoh

HEISN 4 X 1012 N2, @00 & 1S D8y



Options :

0.03m
1. %

0.04 m
2. %

0.0l m
3. %

0.02m
4.

Question Number : 95 Question Id : 4509387775 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Water flows from a tap of diameter 1.5 cm with 7.5 X 107 m®s ™. Coefficient of Viscosity of

wateris 1072 Pas. The flow is
15 cm 75090 (10 2,8 508700 D0 A 7.5 X 1075 m3s™ BENS [P ) B.

) 1280 1073 Pas WONS, & [TTO
Options:

Turbulent with Reynolds number less than 6000

B DOWE 6000 FOT 550305 ()5 S0HHD DT 0

1. %

Steady flow with Reynolds number less than 2000

BO*O DOWS 2000 0T 5005 1S D& |DaeT0
2. %



Turbulent with Reynolds number greater than 6000

BIO DOWS 6000 F0T D026 S H0HY (D0
v

Steady flow with Reynolds number more than 6000

. BarQ SOS 6000 0T DB (10> DEE (Daer0
4.

Question Number : 96 Question Id : 4509387776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A uniform metal solid sphere 1s rotating with angular speed w, about diameter. If the temperature

is raised by 50 °C. the angular speed will be

[given ety = 20 X 107°°C7Y]

2,8 D368 S TNITL0 wp SHAD HAS TR 50 SEFEOT (060 TN D,

950 B8} &5411¢e 50 °C OB ) SeIokh S

(g, = 20 X 1075 °C7 TP 9a) SOR0E)]
Options:

095 i
1. %

0.96 w,

0.98 w,
3. ¢

4, ®



wp (Angular velocity 1s same)

0o (SBOH 5B STSD)

Question Number : 97 Question Id : 4509387777 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When 2 moles of a monatomic gas expands adiabatically from a temperature of 80°C to 50°C, the

work done is W. The work done when 3 moles of a diatomic gas expands adiabatically from

50°C to 20°C, 1

2 370 © 8 H0STEDE TG 80°C00d 50°C, SIS VO HEARS

T8I0 TOANND ZOA DA W. 3 O © A 538308 A 50°C b0 20°C,

&% DB DS 75530 TS, 2OAS HR

Options :

7W

1. %

Question Number : 98 Question Id : 4509387778 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A gas absorbs 18] of heat and work done on the gas is 12 ]. Then the change in internal energy of

the gas
2,8 O 18] GaP) T 00O HOO FANNYD 12] IR B6A0D. BN
T80 @068 $85°Q 7 )

Options :

247
1. %

36]

6]

30
4. )

Question Number : 99 Question Id : 4509387779 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the ratio of the absolute temperature of the sink and source of a Carnot engine 1s changed from

2:3t03: 4, the efficiency of the engine changes by
50 0000 G0E; FBerFaHo HOOKD EPHD0e DB GRS AR
21300063 4 % 87605, 0D0(0 B BES srth)

Options :

25%
1.¢



40%

2. %

50%
3 %

15%
4. %

Question Number : 100 Question Id : 4509387780 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ratio of the molar specific heat capacities of monatomic and diatomic gases at constant pressure

Options :

1:7

2:7

Question Number : 101 Question Id : 4509387781 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The frequency of fifth harmonic of a closed pipe is equal to the frequency of third harmonic of an

open pipe. If the length of the open pipe is 72 cm. then the length of the closed pipe 1s

2,8 PR &) )0 OR05), 96) @b SO0 )50, 28 BB ) Y0 B3NS},
ched @80 )8 HerR0. BUD &) M0 &) 72 em ©ONS,
Q) Gi), TR0 &Pcha)

Options :

60 cm
1. ¢

45 cm
2. %

30 em
3. %

75 cm
4. %

Question Number : 102 Question Id : 4509387782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
When a convex lens 15 immersed in two different liquids of refractive indices 1.25 and 1.5. the

ratio of the focal lengths of the lens is 5: 16. The refractive index of the material of the lens 1s

18 25 heasen 125 HOOM 15, Ko 3ok DX [BTOS 28 §oersd
E050) SN0DSE, S0 TAR0STO S 5:16. @ONB $0F 0
82850 Mo

Options :



1. %
2. ®
1.65
3.¥
4 % 1.6

Question Number : 103 Question Id : 4509387783 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Twwo light waves of mtensities [ and 21 superimpose on each other, If the path difference between

the light waves reaching a point s 12.5% of the wavelength of the light. then the resultant intensity

at the point 15 (Both the light waves have same wavelength)

15805 21 S5 116 B FOB SEOMOD 28 A HTE TR ersde
D, 2.8 Doy TO 508 SBOme DS N B0 S0 oK TTLAS
12.5% 008, & D0Na) & HEE 6‘3@@6

(B0Ch 5088 SSorren 2,3 ot TR $OR ey an)

Options :

I
1. %

91
2. %

31



Question Number : 104 Question Id : 4509387784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A particle of mass 0.5 g and charge 10 uC is subjected to a uniform electric field of 8 NC. If the

particle is initially at rest. the velocity of the particle after a time of 5 seconds is

0.5 g [(3:35078 5600 10 uC &340 fie) 28 §erR), 8 NC! 808 DCD;S 3 [@8

DOTIE. $20 Send AT VBS HOB), 5 VEDO PO Sared §60 o
Options :

5 ms™!

0.5 ms"

8 ms”

0.8 ms™!

Question Number : 105 Question Id : 4509387785 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1235 identical charged small spheres coalesce to form a big charged sphere. If the electric potential

on each small sphere 1s 60 mV. then the electric potential on the bigger sphere formed is
2,5 08 125 9968 D) Feren $ONFaN 2.8 DG 85eh AFOm IS )BT,
2,538 D) 110 2 DS FTRONO 60 mV @A JBIB DG FF0 2 N5
SBROHO

Options :

1% 0V

15V

3V

Question Number : 106 Question Id : 4509387786 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two particles of charges 4 nC and Q are kept 1n air with a separation of 10 cm between them. If the

electrostatic potential energy of the system 1s 1.8 uJ. then Q =

4 1C HB0M Q eFFen o) Boch Lerernd ared eds Crdo 10 em GORNED
GO, IR VG Dchsed 48 1.8 w @woned Q=
Options :

12 nC
1. %



9nC

2 %®
5 n(C
3.¢¥
7 nC
4. %

Question Number : 107 Question Id : 4509387787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The emf of a cell of internal resistance 2 () 1s measured using a voltmeter of resistance 998 (. The

error 11 the emf measured 1s

QOG0 9980 (10 28 SN DEFHD GHAFAOD 20 @058) 50 Koy 2.8 ey
B0 emf oD FOTA. 52080 emf S B0

Options :
0.4%
4%

2%

0.2%



Question Number : 108 Question Id : 4509387788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a meter bridge experiment, a resistance of 9 () is connected in the left gap and an unknown
resistance greater than 9 Q) is connected m the right gap. If the resistance m the gaps are

mterchanged. the balancing point shifts by 10 cm. The unknown resistance 1s

2,8 D00 DA HBFHOS, D FFOS 9 0 AT O 5B 279 90 50T
D5 BONA AT 0D, TSR ABTOD THITD TR,
0RO 0 10 em BEHDHD. @900 BOCHR ABE0 NENS

Options :

18 0

2210}

110

360
4. %

Question Number : 109 Question Id : 4509387789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A charge ‘q’ 1s spread uniformly over an isolated ring of radius ‘R’ The ring is rotated about its

natural axis with angular speed ‘w’. The magnetic dipole moment of the ring is
R 700 SO0 8 A0S 08610 BOBER ‘@ SIF0 NE0ST 20D G0O.
$0869008) ‘o’ SEIAD SAS TR 1578 5.0 NGO 2060 ToSOT . HONS &

503620 G35} SAHRTL0ed B 5 2050

Options :
qwR
1. % .
qwR?
2. ®
qwR?
2
3.¢
q
2R
4, ®

Question Number : 110 Question Id : 4509387790 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Current sensitivities of two galvanometers G;and G, of resistances 100 0 and 50 0 are 10%div/A

and 0.5 X 10°div/A respectively. The galvanometer in which the voltage sensitivity is more is

1000 AN 500 en ATTEN K> Boch o) D 6,000 6, © i

DT DAYSE e SO 108div/A HOA 05X 10%div/A ©ONB  4,82

R 6 0 8028 EOR ey srradeath



Options :

Same in both galvanometers

B0 e LD S Hoird0o

1. %
More in G,
G, ¢S DB
Zero
D)
3. %
More i1 Gy
Gy &S DBV
4.

Question Number : 111 Question Id : 4509387791 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

04

The relation between p and H for a specimen of iron is ¢t = [?-F 12 X 10_4] Hm ™. The value of

H which produces flux density of 1 T will be ( 1 = magnetic permeability. H = magnetic intensity)

Aea) NS T 1 DD H © aE§ 00D0QO0 i = [Z—“ +12 % 10‘4] Hm™

TG00, @OF> oS 1T &8 T H dend (1= 06

000D, H = <008 &|5¢5)

Options :

250 Am™1
1. %



500 Am™1

2.9

750 Am™1
3 %

10 Am™1
4. %

Question Number : 112 Question Id : 4509387792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a circuit the current falls from 14 Ato4 A i a time 0.2 ms. If the mduced emf 15 150 V., then the

self inductance of the circuit 1s

2,8 SO0H0S DS [HaFTO 14406 44 § 0.2ms TFOOS DAFONIA. |6

emf 150 Ve&and 50000 8 5aho (88 50

Options :
1% 6 H
6 mH
2 ®
3 mH
3H

4. %



Question Number : 113 Question Id : 4509387793 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An alternating current 1s given by i = (3 sinwt 4 4 cos wt) A. The rms current will be

28 DF0E DDA (DarT0 i = (3sinwt +4coswt) A T B9 DBOO. SONS rms

DS DO

Options:
7
— A
V2
1. =
1
—=
V2
2.
5
—=
V2
3
3
=ik
V2
4. %

Question Number : 114 Question Id : 4509387794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



For plane electromagnetic waves propagating i the positive Z — direction. The combination which
gives the correct possible direction for E and B fields respectively is

Sre)s 7 - O3S HTEDIRND) 28 ADBO DHISODRT08 SEOmRS,
309 50 BSOS, E HOOM B 3@ 0T 55D B3 SO 26
AP

Options :

(—2i — 3j) and (3i — 2j)

(—2i — 3j) s0BOW (3i — 2j)
1.¢

(3i + 4j) and (4i — 3j)
(3i + 4j) DB (4i — 3))

(i—2j)and (—2i —j)
(i — 2j) DB (—2i — j)

(—2i + 3j) and (i + 2j)
(—2i + 3j) DS (i + 2j)

Question Number : 115 Question Id : 4509387795 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A photon incident on a metal of work function 2 eV produced photo electron of maximum kinetic

energy of 2 eV. The wavelength associated with the photon i

DR (NDODO 2 eV i) 2.8 S'ar0o 28 FErS HBI0 ToO KO e 48 2.6V e
508 JOITHD &8 TANDNO. BB Fere & BDI0TIN
SGoiEds0

Options :

6200 A

3100 A
2.

9300 A

2000 A

Question Number : 116 Question Id : 4509387796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Energy levels A, B and C of a certain atom corresponding fo increasing values of energy 1e..
Ey < Eg < E;. If Ay, 4, & A5 are the wavelengths of a photon corresponding to the transitions

shown. then

28 HOSTEDHS A, B HO € ©F I5ronen (EHom 6T 48 denadd

SPORTOY. O B <Ep < Ayl B0 ®F HH0S  rNS

NOEDETOR NOVORODN JFEre BEONTT B, are3 1¢5 0O

Ec €
h
VAVRTAV. o
Eg [ B
’?-2 Rt =2
nunt _ﬂ;;
Ey Y Y \
Options :
.?13 = ";{1 ‘l_ ."12
1. %
3 - (A1 + 43)
T A
2. %

A3=A+ A3

M
A+ A)

Question Number : 117 Question Id : 4509387797 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
In a nuclear reactor. the fuel is consumed at the rate of 1 x 10 ~* gs™*. The power generated in
kW is
2,8 952 BOIPED S 909890 1 x 10 3 g5~ Bend DATPRODADS08. o
Debserddhs 5§ kw o

Options :

9 x 104
1. %

9 x 107
2. i

9 x 108
3. ®

9 x 102
4, %

Question Number : 118 Question Id : 4509387798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the diodes shown in the diagrams. which one is reverse biased?

808 e3¢5 & Ao BTk B85350 S NS0 TOHABOH?

Options:

-12v



—AAN—

-10V
2. ®
l+5u
2
[ |
|
3. ¢
+0V
+5V
4. %

Question Number : 119 Question Id : 4509387799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The following configuration of gates is equivalent to
-5 % =
A0S QL) ST ST IOCDINAZ D S 580

A

2 ) >

Options:
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Question Number : 120 Question Id : 4509387800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Size of the antenna for a carrier wave of frequency 3 MHz 1s

3 MHz PR20) 50 (10 3%3°8 G0MTRS S50 AIPOTI) 286520

Options :
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Question Number : 121 Question Id : 4509387801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The sum of number of angular nodes and radial nodes for 4d orbital 1s
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